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CLASS : X SLIP TEST - 1(REAL NUMBERS, SETS, STATISTICS)
SUBJECT : MATHS
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SECTION — |
Answer the following questions.
IfACB,thenAnB=
A) A B) B
HCF (12, 15, 21) =
A) 2 B) 3

X x .
Mode of X, 503 IS 7then X =

Answer the following questions.

Write the formula for median and explain the terms.

Expand : log %

fA={0,2,4}thenfindAn@,AUQg

Answer the following questions. 2x4=8M
A={x: xisanevenprime}, B ={x: xisanatural numbers < 12}, C={x : x is multiples

of 4<15},D={x: xisafactorof 12} Find:1)AUB 2)ANnC 3y CND 4)B-A

Find the Mode of the following.

C. 0-10

Frequency 5

Answer the following question.

rty) 1 nd E4 Y
If log(T) =2 [logx + logy] then find N +5

(or)

Show that \/f + \/§ is an irrational.
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IfACB, ®ONSANB=
A) A B) B
HCF (12, 15, 21) =
A) 2 B) 3
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DRB0HW: log %

A={0,2,4}005A NG, AU @ E0F000.

8o 1N%) 08 SSrprdo orodho . 2x4=8dr
A={x: x 2838 (DS QoPS},B={x: x 28 IR SoP§ <12}, C={x: x 4 B0,
oederen <15}, D ={x: x 12 QW& VeFosen } oS 1)AUB  2)AnC 3)CND
4) B — A O E0FR0SB.
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log(erTy) = %[logx + logy] @awa ;—z+ Z_z FAISVINESINVIA N VNS

(So)
V2 4+ V3 &8£50% H0mg e Aryw.







